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dtiEE 113 30 45 38 0
BHRE 52 16 25 11 0
EFR 81 19 52 10 0
=R 29 2 19 8 0
MHEE 44 2 29 13 0
iz 2 31 2 16 13 0
BER 99 9 70 20 0
B3 101 10 82 9 0
N 35 6 25 4 0
HER 20 3 13 4 0
BER 56 11 33 12 0
FER 95 21 59 14 1
BRI 83 8 55 20 0
HE)IE 108 17 67 24 0
Hiag 70 6 35 29 0
EILE 30 7 7 16 0
GIE 25 12 9 4 0
fBHE 23 0 17 6 0
HEIR 22 7 12 3 0
RHE 86 1 51 34 0
Iz B2 18 64 9 36 19 0
Ba[E 2 52 1 45 6 0
EHE 96 8 56 32 0
=EE 62 13 42 7 0
HER 19 7 10 2 0
REBAT 42 8 31 3 0
ABR AT 76 38 27 11 0
EER 55 5 36 14 0
=RE 23 8 9 6 0
IR 32 13 13 5 1
SEIE 25 7 10 8 0
SRE 25 15 4 6 0
fif] IR 51 10 25 16 0
LS8 64 17 31 16 0
wog 67 19 33 15 0
HER 16 2 10 4 0
FNE 15 5 10 0 0
BIRE 20 7 10 3 0
=R 19 4 10 5 0
fafE 18 Al 29 29 13 0
EER 32 13 15 4 0
RIGE 21 4 14 3 0
REARE 15 7 8 0 0
N 31 4 23 4 0
=IFE 14 10 2 2 0
ERER 36 12 16 8 0
b 0 0 0 0 0
it 2,246 464 1,276 504 2




